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8E_E5 9B BD E9 c41 62975.htm 101 During the first half of the
project. five team members left for other projects without being
replaced. two team members went on vacation without informing
you. and other team members expressed uncertainty about the work
they were to complete. In this situation. it is BEST if you create a

for the second half of the project. A. work breakdown
structure B. resource histogram C. staffing management plan D.
responsibility matrix 10 0 0 000000 oO50000000
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2[1 A project control system: A. monitors and controls the project

' sschedules, costs, scope, budgets, etc. B. is a mechanism which
reacts to the current project status in order to ensure
accomplishment of project objectives C. is only needed on large
"mega" projects D. is a system for controlling and executing project
documentation in a uniform and timely manner200 O 0O O O O O
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000000 30 An activity has an early start date-of the 10th and
a late start date of the 19th. The activity also has a duration of 4 days.
There are no nonworkdays. From the information given, what can
be concluded about the activity? A. Total float for the activity is 9
days. B. The early finish date of the activity is the end of the day on
the 14th. C. The late finish date is the 25th. D. The activity can be
completed in 2 days if the resources devoted to it are doubled 301 [
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the cost budget for one project. Which of the following is true? A.
This process assigns cost estimates to project activities including risks
and contingency plans. B. The cost baseline will be used to measure
variances and future project performance. C. This process assigns
cost estimates for expected future period operating costs. D. The cost
baseline is the expected cost for the project. A0 0 OO0 OO OO O
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